4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,0

A~ 1 nui rgoe+u4 / 25
o po 4139+ 0.0
p1 -34.29+ 0.00

TP delay [ns]

TVC(cbch) (0,0,4

S nun3a3e+u4 [ 25
- po 4182+ 0.0
pl -34.43+ 0.00

50 5
TP delay [ns]

TVC(cbch) (O 0,8

T i 3sze+u4 [ 25
o pO 4239+ 0.0
pl -37.18+ 0.00

TP delay [ns]

TVC(Cbch) (o, O 12

- 1 nug p3ve+ud [ 25
4243+ 0.0
-36.11+ 0.00

P BN |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,01

A1 L 5ase+U4 | 25
P e po 4145+ 0.0
pL -34.43 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

-1 nui Zose+ud / 25
Fuce po 4185+ 0.0
pl -34.73 % 0.00

TP delay [ns]

TVC(c,b ch) (0 0,9

=i Zyaerud [ 25
- pO 4241 0.0
pL -35.87+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, O 13

-1 1w, oe+U4 ] 25
e, pO 4256+ 0.0
p1 -35.38+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,0,2)

X~ 1L 58 /e+U4 [ 25
Fuee po 4147% 0.0
[ p1 -34.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,0,6

- C =30.00 [ps/ch] .

- g zs4e+u4 [ 25
... pO 4178+ 0.0
[ p1 -33.33+ 0.00

3000

50 56
TP delay [ns]

TVC(eb,oh)=(0, 0, 10

1000

- Ui ob1e+Ud [ 25
- pO 4264+ 0.0
[ p1 -36.06+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,0,14

-1 gloe+ud [ 25
- pD 4241% 0.0
[ pl -35.07 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,3

A~ 1 nuiL, 7use+ud [ 25
Fe po 4145+ 0.0
pL -33.68:+ 0.00

[ C =29.69 [ps/ch]

L
50 100

TP delay [ns]

TVC(c,b ch) (0 0,7

-1 nug bgye+u4 / 25
k.. pO 4204+ 0.0
p1 -34.69+ 0.00

[ C =28.82 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (o, O

T 5Ube+l}4/25
- pO 4271£ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (0, O 15

- g, Soe+ud [ 25
e 4244 0.0
-34.39 + 0.00

[ C=29.08 [ps/ch] ]

P B TR |
50 100

TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(CbCh)(OlZ) TVC(cbch)(013)
AT rnui1s5/e+u4 /25 A~ 1L ul4e+us | 25 AT 330e+ud [ 25 A1 zuse+ud | 25
4000 e, PO 4185+ 0.0 4000 - po 4194+ 0.0 4000 __- po 4216+ 0.0 4000 e, po 4217+ 0.0
pl -34.39+ 0.00 pl -35.21+ 0.00 r pl -36.16 + 0.00 pl -36.26 + 0.00

-1 3000

- 3000 1

3000 =1 3000

2000 4 2000 - 2000 B 2000

] 1000 . 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0.1,4 TVC(cbch) (0.1, TVC(cbch) (0,1,6 TVC(cbch) (0.1,

Trnung 2459+UA 125 s i)zze+04/25 T 21&e+u4 125 Tnarg z)//e+l)4/25
4000 fom pO 4210+ 0.0 4000 Fem, pO 4217+ 0.0 4000 [, pO 4231 0.0 4000 s pO 42341 0.0
pl -34.59 + 0.00 pl -34.64 0.00 - pl -35.39+ 0.00 pl -34.59 + 0.00
3000 - - 3000 - - 3000 :— —: 3000 -
2000 1 2000 - -1 2000 :_ _: 2000 - -
wo- G = 28.91 [ps/ch] 1 wo- G = 28.87 [ps/ch] y 100F C = 28.26 [ps/ch ] wor C = 28.91 [ps/ch] ]
1 1 - 1 1 - : 1 1 - 3 1 1 -
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(0,1,8) TVC(E.e=(0,1,9) TVC(eh.eh=(0, 1, 10) TVC(ebe)=(0, 1, 1)
T nuz0yre+ud [ 25 T rnun 48be+u4 [ 25 © 1. zg4e+04 | 25 i ysze+u4 [ 25
4000 pO 4212400 4000 pO 4228+ 00 4000 DO 4246+ 00 4000, p0 4245+ 0.0
Pl -3521+0.00 Pl 3447000 L Pl -3544%0.00 Pl 3546+ 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 2000 ] 2000 E 2000

1000 . 1000 - 1000

1o00F C = 29.01 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(Oll ) TVC(cbch)(OllB) TVC(cbch)(0114) TVC(cbch)(0115)
T, roze+u4 [ 25 T inuiolie+ud / 25 T 1ooe+ud /25 T nui o3oe+ud / 25
4000 fm, pO 4265+ 0.0 4000 [, pO 4271+ 0.0 4000 fm, PD 4255+ 0.0 4000 fe pO 4264+ 0.0
pl -37.2+ 0.0 pl -37.91+ 0.00 F pl -36.94 + 0.00 pl -37.05 + 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,0)

T 1soe+ud /25
P, pO 4202+ 0.0
p1 -36.42+ 0.00

TP delay [ns]

TVC(cbch) (02,4

- i b1oe+u4 / 25
- pO 4186+ 0.0
pl -35.81+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

1z 1o8e+04 / 25
= po 4228+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (0,212

T rnuiLyzse+u4 | 25
= po 4246+ 0.0
pl -36.89 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1

x- 1 i Soae+U4 | 25
., po 4197 + 0.0
pL -35.6 0.0

TP delay [ns]

TVC(c,b ch) (0 2,5

- nun b3ze+u4 [ 25
pO 4205+ 0.0
pL -36.69+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

T nue.Y/oe+ud [ 25
po 4260+ 0.0
pl -36.45 + 0.00

TP delay [ns]

TVC(C, bch) (0,213

T nui ggbe+ud [ 25
pO 4231% 0.0
p1 -36.9 + 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,2,2)

TonunLave+ud [ 25
-, po 4213+ 0.0
o pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

T L4 4e+04 | 25
-, pO 4203+ 0.0
u pl -36.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

1000

T g14e+04 /25
- po 4261+ 0.0
L pl -36.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,214

T L gse+ud /25
-, pD 4247+ 0.0
L pl -37.26+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3

AT rnuiLoure+ud [ 25
- po 4222+ 0.0
p1 -36.7 + 0.0

TP delay [ns]

TVC(c,b ch) (0 2,7

- nui b1ve+u4 / 25
- pO 4230+ 0.0
pL -37.32:+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

B 1453+u4/25
- pO 4259+ 0.0
pL -36.06+ 0.00

TP delay [ns]

TVC(C, bch) (0,215

T nui n3ae+u4 /25
= po 4245+ 0.0
p1 -37.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0)

PSR

330e+u4 [ 25
4201+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(cbch) (0,3,4

13/e+U4 /25
4189+ 0.0
-34.94 + 0.00

— po,..u.l
pl
e 4
% i
TP delay [ns]
TVC(cbch) (O 3,8
o pD

Tz 2uze+u4 | 25
4223+ 0.0
-34.86 + 0.00

TP delay [ns]

TVC(cbch) (0,312

b po
p1

©ruizguse+ud / 25
4258+ 0.0
-36.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1)

TVC(c,b ch) (0 3,5

AT 1 nuiL, 180e+U4 / 25
P po 4200+ 0.0
pl -35.1+ 0.0
_1 1
50 100
TP delay [ns]

-1 nun 3z9e+u4 [ 25
4194+ 0.0
-35.42 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

pO
pl

T nu g1oe+u4 25
4238+ 0.0
-35.34 + 0.00

TP delay [ns]

TVC(C, bch) (0,3,13

Tinuiasie+ud [ 25
4249+ 0.0
-35.28 + 0.00

il
100

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (0,3,2)

= po

AT nun suse+u4 / 25
4213+ 0.0
-36.26 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,36

= 1 nur bobe+u4 [ 25
4213+ 0.0
-36.87 + 0.00

- PO

[ o

FC =27.12 [ps/ch .
5(') 100 -

TP delay [ns]

TVC(cbch) (0, 3 10

T z19e+u4 /25
- po 4247+ 0.0
- pl -35.16 + 0.

-35.16 + 0.00

TP delay [ns]

TVC(cbch) (0,3 14

- p"

1 nuiLpoye+u4 / 25
4270+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3)

e po

pl

AT 1 nuiL4nze+ud [ 25
4225+ 0.0
-36.04 + 0.00

TVC(c,b ch) (0 3,7

E pO
pl

1
100

TP delay [ns]

- nun 3nze+u4 / 25
4226+ 0.0
-35.62 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 3

= pO

EEALEVX Ui/e+U4/25
4256+ 0.0
-35.87 + 0.00

pl

TP delay [ns]

TVC(C, bch) (0,3,15

= po

T 1nui agse+ud [ 25
4265+ 0.0
-35.41+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0

AT 1nuiLosie+ud /25
.. po 4205+ 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(cbch) (04,4

- 1 1uiL449e+04 / 25
. pO 4200+ 0.0
pl -36.52+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

© il pule+u4 / 25
- pO 4221+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (0,4,12

© i base+U4 / 25
= po 4228+ 0.0
pl -36.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1

AT 1 nuiLogoe+ud [ 25
P, po 4185+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

= 1 nuiL agse+ud | 25
== po 4203+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

T nuggule+ud / 25
- po 4236+ 0.0
pl -35.12 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,13

T nuin4ze+ud [ 25
- pO 4237+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (0,4,2)

A~ 1nuiLoive+u4 /25
_E po 4221+ 0.0
o pl -38.19+ 0.00

TP delay [ns]

TVC(cbch) (04,6

-1 nur 358e+04 / 25
3 pO 4223+ 0.0
[ pl -38.04 + 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

T nuiLbu/e+u4 [ 25
. po 4258+ 0.0
- pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (0,4,14

T 34e+04 / 25
4228+ 0.0
-36.8 + 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3)

AT 1L byze+ud [ 25
- po 4228+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

=1 nui byve+u4 / 25
- pO 4218+ 0.0
pl -37.28 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

T bb/e+U4/25
- po 4265+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(C, bch) (04,15

T nan 1 yge+ud [ 25
= po 4236+ 0.0
p1 -37.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,0

A~ 1 nui Usye+ud 25
. po 4177+ 0.0
p1 -36.76+ 0.00

TP delay [ns]

TVC(cbch) (05,4

“ L0 r5e+u4 / 25
4191+ 0.0
-35.31+ 0.00

50 5
TP delay [ns]

TVC(cbch) (O 5,8

- b4 /e+Ud [ 25
= po 4182+ 0.0
p1 -34.54+ 0.00

TP delay [ns]

TVC(cbch) (0,5,12

S i z71e+04 /25
= po 4195+ 0.0
p1 -34.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,51

AL (a1e+U4 ] 25
e po 4176+ 0.0
pL -37.67:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 55

-1 nun Z33e+04 / 25
pO 4181% 0.0
pL -36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (0 59

- O3ue+U4 | 25
pO 4201 0.0
pL -35.49.+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 5 13

T inai s43e+u4 / 25
pO 4202+ 0.0
p1 -34.7 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,5,2)

X~ 1 i 03ve+u4 [ 25
= po 4182+ 0.0
L p1 -36.84 £ 0.00

3000

TP delay [ns]

TVC(cbch) (0,56

- nuiL 1yge+u4 / 25
- pO 4192+ 0.0
[ p1 -36.03+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(0, 5, 10

1000

S rnun L fpe+u4 [ 25
==, po 4223+ 0.0
o pl -35.29.+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,5,14

= 1 i s0se+U4 /25
= pD 4205+ 0.0
L p1 -35.68+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,3

A~ 1 nuiLUbze+U4 / 25
peee po 4183+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (0 57

- nun 3z2ze+04 [ 25
4202+ 0.0
-33.9+ 0.0

C =29.50 [ps/ch] 7]

50 160
TP delay [ns]

TVC(c,b ch) (o, 5

BT bée+u4/25
- po 4218+ 0.0
pL -34.79. 0.00

TP delay [ns]

TVC(c,b ch) (0, 5 15

- 15ze+04 25
- pO 4204+ 0.0
pL -35.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0

A7 1nui zose+ud /25
., po 4206+ 0.0
pl -36.59 = 0.00

1
50 100

TP delay [ns]

TVC(cbch) (06,4

- i 340e+04 / 25
pO 4195+ 0.0
p1 -36.48+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

T rnuzproe+ud [ 25
po 4213+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

Ty r1e+u4 /25
pO 4223+ 0.0
pl -35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1

AT 1L seve+ud [ 25
Fee,, po 4197+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

=1 3vpe+u4 / 25
e, pO 4178+ 0.0
pL -35.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 6,9

1 nuw.Ubse+ud 25
= po 4228+ 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(C, bch) (0,6,13

-1 naiLbuge+ud [ 25
= pO 4216+ 0.0
pl -35.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

AT inuizire+V4 /25
- po 4202+ 0.0
L pl -35.74 + 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

TnuiL3/1e+u4 / 25
- pO 4197 00
F Pl 3595+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 6 10

1000

0

T 3.39e+u4 /25
. po 4252+ 0.0
- pl -37.22+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

T s14e+04 / 25
- pD 4220+ 0.0
[ p1 -35.87 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3

AT 1 nuiL2zoae+u4 [ 25
- po 4219+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

-1 nui b3ye+u4d / 25
- pO 4194+ 0.0
p1 -34.97+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

EREALER aqbe+u4/25
= po 4266+ 0.0
p1 -37.57 + 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

T nui psze+ud [ 25
- pO 4222+ 0.0
p1 -35.63+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,7,0

A7 nun zsse+u4 [ 25
e po 4201+ 0.0
pl -37.52 0.00

TP delay [ns]

TVC(cbch) (07,4

- i, ruze+ud | 25
4221+ 0.0
-35.5+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

T 1nuiz.44ze+04 | 25
4235+ 0.0
-36.7 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,7,12

T rnuiL4zve+u4 [ 25
= po 4221+ 0.0
pl -34.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,1

X1 i duae+ud | 25
- po 4212+ 0.0
pL -37.81 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

- b3se+u4d [ 25
- pO 4224+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

T nu.a45e+04 / 25
- pO 4242+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (0,7,13

T inuip3se+ud [ 25
= pO 4238+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,7,2)

A7 1 nui 3ove+u4 / 25
po 4235+ 0.0
pl -38.11 + 0.00

TP delay [ns]

TVC(cbch) (0,7,6

- rnunLyzze+u4 | 25
- pO 4224+ 0.0
[ pl -35.41% 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

1000

T 1nuigpule+ud / 25
= po 4257+ 0.0
- pl -36.23 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

~ 1 nuiLpuge+ud | 25
- pD 4239+ 0.0
L pl -35.87 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT rnuiLssre+ud [ 25
- po 4231+ 0.0
pl -37.14+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

S rnan11e+04 /25
- pO 4219+ 0.0
p1 -34.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

EREALER ab4e+u4/25
= po 4260+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(C, bch) (07,15

T nui pbse+ud / 25
e pO 4251+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0

A7 1 nun asae+04 /25
., po 4215+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (08,4

- i zgle+ud / 25
pO 4218+ 0.0
pl -35.08:+ 0.00

0

TP delay [ns]
TVC(cbch) (0.88) _
T nuz gobe+u4 5
- po 4238:‘
pl -36.54 + 0.00
TP delay [ns]
TVC(c,b ch) (0o, 8 12

T rnuiLgs4e+u4 / 25
pO 4255+ 0.0
p1 -37.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT 1 nuiLsyve+ud [ 25
P, po 4200+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

=1 nui 3use+u4 / 25
- pO 4212+ 0.0
p1 -34.48+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

-1 nui ogYe+ud 25
4254+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (0,8,13

TinuiLnrse+ud [ 25
= pO 4266+ 0.0
pl -37.18 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,2)

A7 1 nun 3o0e+U4 / 25
po 4213+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (0,86

T 38/e+04 [ 25
po 4234+ 0.0
pl -35.78 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

T rnugurge+u4 | 25
DO 4282+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (0,814

T rnuiLb10e+U4 /25
pD 4264+ 0.0
pl -37.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

AT rnuiLosre+ud [ 25
- po 4231+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

- nui /1pe+u4 / 25
pO 4240+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

AL suue+u4/25
= pO 4274+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(C, bch) (0,815

T inuipzie+ud /25
- pO 4256+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

A7 1 nui s40e+04 / 25
., po 4183+ 0.0
pl -35.68 0.00

TP delay [ns]

TVC(cbch) (0,9,4

T 1 30e+ud /25
pO 4181% 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (O 9,8

T rnuiLy1ge+u4 / 25
po 4216+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

Ty roe+ud /25
pO 4220+ 0.0
p1 -35.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

AT rnuLsoie+ud [ 25
pee,, po 4179+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

-1 nui 4p1e+04 / 25
e, pO 4199+ 0.0
p1 -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 9,9

-1 nu. yuse+ud / 25
= po 4212+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

TinuiLale+ud [ 25
- pO 4197+ 0.0
pl -34.52+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

AT 1nun s4ze+04 /25
- po 4200+ 0.0
[ p1 -36.35+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

- rnuiL4y1e+u4 / 25
- pO 4199+ 0.0
3 pl -35.78 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

T z.49e+04 /25
= po 4248+ 0.0
- pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (0,9,14

~1nuiL4zoe+04 / 25
- pD 4208+ 0.0
L p1 342+ 0.0

- C = 29.24 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3

AT 1 nuiLozoe+ud [ 25
- po 4201+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

- nu oze+04 [ 25
e, pO 4216+ 0.0
pL -36.76+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b,ch)=(0, 9, 11

- T
. po

K- ze+04 /25
4246+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

Tnai srse+ud /25
e pO 4224+ 0.0
p1 -34.99 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

[ C =29.21 [ps/ch]

T zgoe+u4 [ 25
™ pO 4208+ 0.0
-34.24 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0.10,4

-1 b34e+04 / 25
e, pO 4226+ 0.0
pl -36.66 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

T rnuiLgU/e+U4 [ 25
= po 4215+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (0,10,12

T zule+ud /25
= po 4260+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

[ C =29.07 [ps/ch]

A1 slae+ud [ 25
= po 4206+ 0.0
pl -34.4 + 0.0

1 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,5

-1 nui bbze+u4 [ 25
- pO 4233+ 0.0
pL -37.38 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

1 nuignzye+ud / 25
= po 4233+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (010,13

~inuiLyu/e+ud [ 25
- pO 4254+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (0,10,2)

TP delay [ns]

TVC(cbch) (0.10,6

1000

S i rzoe+V4 [ 25
- pO 4235+ 0.0
[ pl -36.83+ 0.00

A1 L 4se+ud | 25
__ po 4214+ 0.0
L pl -34.74 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

T, [ r4e+04 | 25
- po 4254+ 0.0
- pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (0.10,14

1000

~ 1L boze+04 / 25
- pD 4262+ 0.0
L pl -36.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT rnuiL1ule+ud [ 25
o po 4229+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

- nui r9pe+u4 / 25
- pO 4258+ 0.0
pL -37.29+ 0.00

50 100
TP delay [ns]

TVC(cbch) (o, 10 1

T onan 1 yse+ud | 25
= pO 4249+ 0.0
pl -35.22 + 0.00

TP delay [ns]

TVC(cbch) (0,10,15

T nui gze+ud [ 25
- pO 4256+ 0.0
p1 -37.24+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

A1 L zoe+ud /25
P po 4158+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

TVC(cbch) (0,11,4

-1 i zyse+04 / 25
e pO 4164+ 0.0
p1 -34.13 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

1L bg4e+u4 | 25
= po 4187+ 0.0
pl -34.77 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 12

K71 nuiL ouoe+u4 / 25
- po 4212+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

A~ 1L 4o8e+U4 [ 25
== po 4161+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (0,11,5

- i 32/e+04 [ 25
e, pO 4190+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(eh.eh)=(0, 11, 9

~ 1 nai z40e+04 | 25
= po 4209+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (0,11,13

T nuiLayse+ud [ 25
== pO 4206+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

1 nu sz3e+u4 [ 25

__— pO 4175+ 0.0
- pl -35.16 + 0.00

TP delay [ns]

TVC(cbch) (0,11,6

-1 i 398e+u4 / 25
- pO 4212+ 0.0
3 pl -36.03+ 0.00

TP delay [ns]

TVC(cbch) (o, 11 10)

- TrnuiLbr1e+u4 [ 25
==, DO 4197+ 0.0
o pl -34.35+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 14

X~ 1 bzoe+04 [ 25
= po 4217+ 0.0
L p1 -36.14+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT rnuiLsyze+ud [ 25
poes, po 4185+ 0.0
pl -35.1+ 0.0

TP delay [ns]

TVC(cbch) (0,11,7

- 1nui 41ze+04 / 25
- pO 4196+ 0.0
p1 -34.27+ 0.00

[ C =29.18 [ps/ch]

50 1(;0
TP delay [ns]

TVC(e.b.eh=(0, 11, 11

- <1 nui g4ve+u4 / 25
= pO 4214+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c, bch) (0,11,15

T nuiasse+ud [ 25
= pO 4211+ 0.0
-34.9+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

T rnuiLz4pe+u4 [ 25
.. pO 4208+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (0,124

-1 nuiL418e+04 / 25
pO 42174 0.0
pl -37.88:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

T a1 rpe+u4 | 25
- pO 4204+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (0,12,12

T Lo/e+ud /25
= po 4220+ 0.0
-35.71+ 0.00

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (0,12,1)

3000

2000

1000

AT 1 nuiL s80e+U4 [ 25
4000 [ po 4217+ 0.0
pl -37.77+ 0.00

TP delay [ns]

TVC(cbch) (0,125

4000 S

3000

2000

1000 [~

=1 nui by3e+ud [ 25
pO 4209+ 0.0
pL -37.31% 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

4000 [

3000

2000

1000

T nu313e+u4 / 25
po 4224+ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (012,13

4000 [

3000

2000

1000

Tinai rsze+ud [ 25
pO 4222+ 0.0
pl -36.22+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (0,12,2)

AT 1nuiss1e+04 /25
_- po 4214+ 0.0
o pl -36.53+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

-1 i bB4e+04 [ 25
e pO 4213+ 0.0
[ pl -37.02 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

© g, zgbe+u4 | 25
. po 4238+ 0.0
L p1 -36.49 + 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

T 10e+ud /25
- pD 4229+ 0.0
[ p1 -35.84+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT 1nun L Sbe+ud [ 25
- po 4238+ 0.0
pl -37.01+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

Snun 1 r3e+u4 [ 25
- pO 4241+ 0.0
pL -37.29+ 0.00

50 100
TP delay [ns]

TVC(eh,eh)=(0, 12, 11

Tnan2use+ud | 25
- pO 4249+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T nui psse+ud [ 25
- po 4229+ 0.0
p1 -36.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,13,0)

Tz, 143e+04 [ 25
4216+ 0.0
pl -36.06 + 0.00

TP delay

TVC(cbch) (0,134

[ns]

-1 nuz,ugge+ud / 25
4235+ 0.0
-37.11+ 0.00

= pO
pl
- C -
e =
TP delay [ns]
TVC(c,b, ch) (0, 13 8) —
T nug b4 re+U4 5
™ pO 4262:‘
pl -34.54 + 0.00
[ C=28.95[ps/ich] ™, 1

0

4000

3000

2000

1000

50

1
100

TP delay [ns]

TVC(cbch) (0,13,12

[ C =28.94 [ps/ch]

T, (gle+u4 / 25
PO 4251+ 0.0
-34.56 + 0.00

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,13,1)

[ee, O

AT rnuzirve+ud [ 25
4214+ 0.0
pl -36.99 + 0.00

TP delay

TVC(c, bch) (0,135

= pO

pl

[ns]

Cnun1.zZ/e+04 /25
4237+ 0.0
-37.14+ 0.00

50 1(;0
TP delay

TVC(c,b ch) (0, 13

== pO

[ns]

~ 1 nui sbge+ud / 25
4285+ 0.0
-34.55 + 0.00

[ C =28.94 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (013,13

1 nuiz.ooae+ud [ 25
PO 4252+ 0.0
pl -35.9+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000
2000

1000

TVC(cbch) (0,13,2)

- PO

K™ 1 nuiz zove+u4 / 25
4220+ 0.0
pl -35.63+ 0.00

TP delay

TVC(cbch) (0.13,6

[ns]

-1 nuz,uBye+ud / 25
4260+ 0.0
pl -37.33+ 0.00

- pO
- C =26.79 [ps/ch .
5(‘) 100 .
TP delay [ns]

TVC(cbch) (0, 13 10

pO
p1

“nu 4.p0e+04 /25
4304+ 0.0
-34.83 + 0.00

- C = 28.71 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (0.13,14

T nuz.4p1e+04 [ 25
PD 4250+ 0.0
pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,13,3)

[, pO

AT rnuzzore+ud [ 25
4239+ 0.0
p1 -37.31+ 0.00

TP delay

TVC(c, bch) (0,13,7

== pO

[ns]

-1z 19/e+04 [ 25
4251+ 0.0
pl -36.65 + 0.00

50 1(;0
TP delay

TVC(cbch) (o, 13 1

= pO

[ns]

- 3.90e+04 / 25
4303+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (0,13,15

i z9de+ud [ 25
pO 4269+ 0.0
pl -36.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

1 nuiL418e+U4 / 25

_—- pO 4182+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (0,144

- 1 nuia59e+04 / 25

e, pO 4203+ 0.0
p1 -34.78:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 8

T rnugur1e+u4 /25
= po 4202+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (0,14, 12

1L b4pe+04 / 25
= po 4223+ 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

A1 1 50e+04 | 25
P po 4195+ 0.0
pL -35.9+ 0.0

TP delay [ns]

TVC(c, bch) (0,145

~ 1 nuiLbb/e+u4 [ 25
e, pO 4207+ 0.0
pL -35.01% 0.00

50 1(;0
TP delay [ns]

TVC(ebeh)=(0, 14,9

T nup.151e+u4 / 25
= po 4219+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (0.14,13

<1 nuiL poge+ud / 25
- pO 4226+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(CbCh) (0,14,2)

K™ 1 nuiLoose+ud / 25

= po 4201+ 0.0
L pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (0.14,6

11 pz1e+04 [ 25

== pO 4206+ 0.0
[ pl -34.14 + 0.00

- C = 29.29 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0, 14 10

T4 ze+04 [ 25
o=, po 4232+ 0.0
r -36.1+ 0.0

TP delay [ns]

TVC(cbch) (0.14,14

T rnuiLpy/e+u4 [ 25
- pD 4240+ 0.0
[ p1 -37.27+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

AT 1o rse+ud [ 25
- po 4198+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

- nui brze+ud / 25
- pO 4206+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(ehch)=(0, 14, 11

T nui rg1e+u4 / 25
= pO 4231+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,14,15

Tonairzie+u4 /25
- po 4245+ 0.0
p1 -37.47 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 15 0)

[ C =29.64 [ps/ch]

T w43 /e+u4 [ 25
.. pO 4194+ 0.0
-33.74+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,154

T a1 /ye+u4 / 25
- pO 4209+ 0.0
p1 -36.14+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

T rnuiLyse+u4 [ 25
= po 4218+ 0.0
p1 -35.42 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T r13e+u4 / 25
= po 4229+ 0.0
p1 35+ 0.0

TP delay [ns]

TVC(chh) (0,15,1)

A1 1 ive+ud ] 25
4000 .. po 4193+ 0.0
pL -33.2+ 0.0

3000 |- =
2000 = N
w00 C = 30.12 [ps/ch] - ]

TP delay [ns]

TVC(cbch) (0,155

4000 S

3000

2000

1000

- nui 3ble+u4 / 25
pO 4212+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

3000

2000

1000

T nup.1/be+u4 /25
4000 em, pO 4256+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (0.15,13

4000 [

3000 -

2000

1000 |~

T nuisble+ud / 25
pO 4220+ 0.0
-34.84+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (0,15,2)

TP delay [ns]

TVC(cbch) (0.15,6

1 nuiL434e+04 / 25
[F-e. pO 4217+ 0.0
- pl -36.55 + 0.00

A7 1 nui ouse+u4 / 25
_- po 4216+ 0.0
[ p1 -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 15 10

T, fole+u4 [ 25
-, po 4276+ 0.0
- pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (0.15, 14

T s14e+04 / 25
- pD 4217+ 0.0
L pl -34.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

AT rmuiLg1re+ud [ 25
po 4211+ 0.0
pl -35+ 0.0

TP delay [ns]

TVC(c, bch) (0,157

=1 nui bube+u4 / 25
- pO 4233+ 0.0
pL -36.71% 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C =28.93 [ps/ch]

T nui gb3e+ud / 25
po 4253+ 0.0
p1 -34.56 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,15,15

T nui oge+ud [ 25
= pO 4227+ 0.0
p1 -35.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

AT 1nuiasre+ud /25
P, po 4182+ 0.0
pl -36.34+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (10,4

- 1L 541e+04 / 25
™, pO 4164+ 0.0
pl -36.08 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T rnuiz0rpe+u4 [ 25
= po 4188+ 0.0
p1 -34.47 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T rnuiLbroe+u4 / 25
= po 4200+ 0.0
pl -35.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,01

AT rnuLosse+ud [ 25
- po 4185+ 0.0
p1 -36.94+ 0.00

TP delay [ns]

TVC(c,b ch) (1, O

- nui /18e+u4 / 25
pO 4173+ 0.0
pL -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

T nun. yg/e+ud [ 25
po 4209+ 0.0
p1 -34,66 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

T nui yzge+ud | 25
pO 4200+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (1,0,2)

AT 1nui413e+04 /25
i po 4178+ 0.0
[ p1 -35.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- i bzoe+u4 [ 25
-, pO 4184 0.0
3 pl -35.54+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

T, r5ze+04 | 25
= po 4227+ 0.0
L pl -34.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

1 nuiz,uuse+ud / 25
4213+ 0.0
-37.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT Lo roe+ud [ 25
- po 4201+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

- nui ryge+u4 / 25
e, pO 4194+ 0.0
p1 -36.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

EEALEVX u41e+u4/25
= po 4235+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

Tonan g yze+ud | 25
= pO 4206+ 0.0
p1 -36.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0

AT inuiazie+04 /25
P po 4175+ 0.0
pl -36.24 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (11,4

- L a0ze+04 | 25
= pO 4175+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(eboh)=(1, 1,8

©1nuiLpgbe+u4 / 25
- pO 4194+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

TVC(cbch) (1,1,12

1 nuiLp4pe+u4 / 25
= po 42114 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT 1L soze+ud [ 25
Fee,, po 4195+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

-1 nui 383e+04 / 25
o pO 4193+ 0.0
pL -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

T a5 be+u4 [ 25
[, 4218+ 0.0
-34.38 + 0.00

I C =29.09 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

~ 1 nuiLpuse+ud / 25
== pO 4203+ 0.0
pl -36.84+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (1,1,2)

TP delay [ns]

TVC(cbch) (11,6

A7 1nuisuie+u4 /25
__- po 4195+ 0.0
o pl -35.38+ 0.00

3000

- i bzge+u4 [ 25
- pO 4202+ 0.0
[ pl -36.07 + 0.00

TP delay [ns]

TVCebeh)=(1, 1, 10

T 3rze+04 [ 25
-, po 4226+ 0.0
- pl -34.48 + 0.00

- C = 29.00 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,114

T 1ooe+ud /25
= pD 4213+ 0.0
L p1 -36.88 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT 1L sooe+ud [ 25
P, po 4203+ 0.0
pl -35.04+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

“nui4/ze+04 / 25
- pO 4202+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
T nai r30e+04 / 25
- po 4230+ 0.0
p1 -35.14+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

TnaiL s/ e+ud /25
- pO 4204+ 0.0
p1 -35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

A7 1 nui zoye+ud [ 25
. po 4194+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (1,24

Srnuan114e+04 /25
e, pO 4213+ 0.0
pl -35.93 + 0.00

50 10‘0
TP delay [ns]

TVC(ebch)=(1,2,8

T rnuiLgEe+u4 [ 25
= po 4197+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (1,212

T L pyle+u4 / 25
= po 4239+ 0.0
pl -36.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AT rnuiLzsze+ud [ 25
., po 4195+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nu 4z8e+04 [ 25
pO 4231% 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

~ 1 nug1uze+ud / 25
po 4218+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(C, bch) (1,213

-1 nuiLpbuve+ud / 25
pO 4238+ 0.0
pl -37.29+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,2,2)

A7 1 nuizzoe+04 /25
o=, po 4209+ 0.0
- pl -35.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

-1 nun 18be+04 / 25
- pO 4239+ 0.0
[ pl -36.03+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

1000

Tnun1yse+u4 /25
o=, po 4228+ 0.0
I pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (1,2 14

1000

T 1ze+04 /25
- pD 4238+ 0.0
L pl -36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

AT 1 nuiLzqoe+ud [ 25
- po 4202+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

-1 nui 445e+04 / 25
- pO 4236+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T yue+u4/25
= po 4250+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(C, bch) (1,215

-1 nuiL yooe+ud / 25
e pO 4234+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0

A7 1 nui4o0e+04 /25
.. po 4205+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (1,34

T rnuiLasie+ud / 25
[, PO 4200+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

T, foze+u4 | 25
- po 4229+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (1,312

T rnuiLbrye+u4 / 25
== po 4193+ 0.0
pl -33.44+ 0.00

[ C =29.90 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,31

X~ 1 L dsoe+ud | 25
o=, po 4206 + 0.0
pL -35.87+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

~1nuibz/e+u4 [ 25
E pO 4231% 0.0
pL -38.51% 0.00

TP delay [ns]

TVC(c,b ch) (1 3,9

T inun, r31e+04 /25
- pO 4248+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(C, bch) (1,3,13

T inuin3se+ud [ 25
feee. 4194+ 0.0
-33.56 + 0.00

[ C=29.79 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

TP delay [ns]

TVC(cbch) (1,36

A~ 1nuiLorse+ud /25
=, po 4209+ 0.0
L pl -36.17 + 0.00

3000

- i, 7zge+04 [ 25
3 pO 4231 0.0
[ pl -38.35+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

1 nuiz.489e+04 | 25
. po 4270+ 0.0
- pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (1,3 14

~ 1 nuiLuYoe+u4 / 25
= pD 4190+ 0.0
L -33.47 + 0.00

- C = 29.88 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

A~ 1 nuiLblie+ud /25
= po 4224+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

Crnan 1.81e+04 [ 25
- pO 4236+ 0.0
pL -37.95+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

Ty a::e+u4/25
- po 4253+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,315

<1 nui vboe+ud / 25
= pO 4198+ 0.0
-34.14+ 0.00

[ C =29.29 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

X~ 1w so4e+U4 [ 25
4220+ 0.0
-38.41+ 0.00

] -
50 100

TP delay [ns]

TVC(cbch) (14,4

- 1L 4uBe+u4 [ 25
.. po 4202+ 0.0
pl -35.06 + 0.00

50 10'0
TP delay [ns]

TVC(ebioh)=(1, 4,8

- 1z 5vae+ud [ 25
- pD 4242+ 0.0
p1 -36.68:+ 0.00

TP delay [ns]

TVC(cbch) (1,4,12

- i Zoe+u4d [ 25
o, po 4207+ 0.0
p1 -35.02:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,41

A~ 1 nuiL, fobe+u4 / 25
F .. po 4225+ 0.0
p1 -38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

~ 1 naiL, 744e+04 | 25
== po 4216+ 0.0
pl -36.04 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (1,4,9

- 11 S80e+U ] 25
- pO 4269+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 4 13

T nuiL p3be+ud / 25
— pO 4216+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,4,2)

A~ 1, ryve+ud [ 25
F . po 4227+ 0.0
o pl -38.11 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,4,6

- 1nuiLbale+ud / 25
- pO 4221 0.0
[ pl -36.55 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

T nuiz4r9e+04 [ 25
- po 4290+ 0.0
[ p1 -37.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,4,14

TrnuiLgs/e+ud [ 25
-, pD 4219+ 0.0
L pl -35.87 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

A~ 1 nuiz 1ule+ud [ 25
- po 4229+ 0.0
pL -37.78:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

= Ui guse+ud | 25
= po 4227+ 0.0
p1 -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1,4,

1)
~ 1 nui gze+u4 [ 25
- pO 4277+ 0.0
p1 -36.45+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4 15

-1 syve+ud [ 25
= pO 4211+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



TVC(cbch)(lSO) TVC(cbch)(lSl) TVC(cbch)(152) TVC(cbch)(153)
A” 1L yzoe+ud / 25 AT a1 ye+ud [ 25 A™ 1 nuizus4e+u4 [ 25 “rnanzzre+ud | 25
4000 Foees, PO 4191+ 0.0 4000 [Fonee po 4196+ 0.0 4000 _=— po 4200+ 0.0 4000 - po 4209+ 0.0
pl -35.73+ 0.00 pl -35.53+ 0.00 r pl -35.77 + 0.00 pl -35.15+ 0.00

3000

1 3000 =1 3000 -1 3000 - -1

2000 - 2000 - 2000 =1 2000 -

1000 = 1000 - 1000: —: 1000F C — 2845 [pS/Ch _
1 ] o . -
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,54 TVC(cbch) (15, TVC(cbch) (1,56 TVC(c, bch) (15,

T 2AAE+UA 125 Trnarg d)ihe+l)4/25 T 2IAE+U4 125 SRALELN b)SbEH)4/25
4000, pO 4224+ 0.0 4000 pO 4224+ 0.0 4000 fae, pO 4241+ 0.0 4000 fes pO 4243+ 0.0
Pl -36.07: 0.00 Pl -36.15: 0.00 - Pl -36.79 0.00 Pl -35.64: 0.00

3000~ E 3000 E 3000~ ] 3000 B

2000 - E 2000 - 2000~ ] 2000 [ -

1000 C = . I 1

10001 C 4 1000 - rC=27.18 [ps/ch ] woor C = 28.05 [ps/ch
I L5 oL I L = I =
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 5 8) TVC(c,b Ch) (1, 5 ) TVC(c,b, Ch) (1, 5 10) TVC(c,b Ch) (1, 5 11)
T, (4/e+04 /25 T i u3s1e+us / 25 T nug,Lroe+u4 /25 T 2.44e+04 1 25
4000 [, pO 4234+ 0.0 4000 [, pO 4259+ 0.0 4000 [, DO 4273£ 00 4000 fam, p0 4280+ 0.0
Pl -36.47%0.00 Pl -36.27% 0.00 [ PL_ -37.02% 0.00 -37 0.0

3000

-1 3000 - 3000 -1 3000

2000 -1 2000 - 2000 -1 2000

1000 E 1000 - 1000 E 1000

0 0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(CbCh) (1, 5 12) TVC(CbCh) (1, 5 13) TVC(CbCh) (1, 5 14) TVC(CbCh) (1, 5 15)
T rnuizul4e+ud | 25 T nuiy4ne+ud [ 25 ~ 1 nuiL4spe+u4 / 25 T naia3ye+ud [ 25
4000 fo pO 4252+ 0.0 4000 fon pO 4247+ 00 4000 fm PD 4245500 4000 fam, pO 4256 0.0
p1 -36.03 + 0.00 p1 -35.89 + 0.00 L pl -35.59 + 0.00 p1 -35.7 + 0.0

3000

T 3000 _ 3000 -1 3000 .

2000 -1 2000 _ 2000 - 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (1,6,0)

4000 (S

3000

2000

1000

K71 nui ozae+04 /25
4193+ 0.0
pl -37.19+ 0.00

TP delay

TVC(cbch) (16,4

[ns]

= i a58e+04 / 25
4219+ 0.0
-36.86 + 0.00

4000 [ pO
pL
3000 [~ ]
2000~ ]
1000~ C ]
0 = 0o
TP delay [ns]
TVC(cbch) (1 6,8)
~nuiLproe+ud / 25
4000 [, 4221+ 0.0
-34.91+ 0.00

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (1,6,12

4000

3000

2000

1000

[ns]

T rnuiLploe+ud / 25
4231+ 0.0
-37.4+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
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pl -36.36 + 0.00 pL -36.82.+ 0.00 3 pl -37.04+ 0.00 pL -36.13+ 0.00
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TonunL/1e+u4 /25 T b3be+u4 / 25 Tl orse+ud [ 25 -1 byge+u4 [ 25
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- pD

[ns]

T, roe+u4 [ 25
4238+ 0.0
pl -36.23+ 0.00

TP delay

[ns]

TVC(Cbch) (1,13,3)

4000 po

AT 1 ysze+ud [ 25
4227+ 0.0
pl -36.39+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (1,137

4000 o pO

[ns]

-1 nuz.ulbe+ud / 25
4240+ 0.0
pl -36.45+ 0.00

3000

2000

wool- C = 27.43 [ps/ch

TP delay

TVC(ebeh)=(1, 13, 1

4000

[ns]

Tonan2.zz2e+04 1 25
4259+ 0.0
-36+ 0.0

3000

2000

1000

TP delay

TVC(cbch) (1,13,15

4000 R,

[ns]

T nuizuzze+ud [ 25
4258+ 0.0
p1 -37.17+ 0.00

3000

2000

1000

TP delay

[ns]



TVC(eh.ehy=(1, 14,0)

4000 [

3000

2000

1000

- 1L 1ine+ud [ 25
po 4201+ 0.0
pL -36.88 + 0.00

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (1,144

-1 nuiLa45e+04 / 25
E pO 4178+ 0.0
p1 -35.95+ 0.00

TP delay [ns]

TVC(e.b.eh)=( 1, 14,8

4000 =,

3000 [~

2000~

w00 C = 30.03 [ps/ch]

- inuzza1e+04 [ 25
pD 4174+ 0.0
-33.3+ 0.0

0

50

1
100

TP delay [ns]

TVC(eh.eh=(L, 14,12)

4000

3000

2000

1000

- 1nuipsle+ud [ 25
4261 0.0
-37.01+ 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(ebeh=(1,14,1)

AT 1L sse+ud [ 25

e PO 4195+ 0.0
pL -36.24 £ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 14,5

- 1L o05e+U4 / 25
™, DU 4192+ 0.0
pl -37.26+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 14, 9

- b 341e+U4 [ 25
E po 4200+ 0.0
pL -35.18 + 0.00

TP delay [ns]

TVC(e.b.ch)=(1, 14, 13

- vsze+ud [ 25
- pO 4254+ 0.0
pl -37.53+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(eb.ehy=(1, 14,2)

K™ 1 nuiLa10e+04 /25

TP delay [ns]

-__- po 4214+ 0.0
[ pl -36.82+ 0.00

3000

TVC(ebeh)=(1,14,3)

4000 [u

3000

2000

1000

A” 1L 20se+U4 [ 25
pO 4231% 0.0
p1 372400

TP delay [ns]

TVC(cbch) (1,146

TVC(eb.eh)=(1, 14,7

4000

_ - Ui e53e+04 / 25
E pO 4176+ 0.0
[ p1 -36.63+ 0.00

TP delay [ns]

TVC(e.b.eh)=( 1, 14, 10

1 nuz 150e+04 / 25

E pO 4224+ 0.0
[ pL -34.94 £ 0.00

TP delay [ns]

TVC(eb.eh=(L, 14, 14)

1000

e yapa 25
E- pD 4262+ 0.0
[ pl -37.11+ 0.00

TP delay [ns]

3000

2000

1000

-1 nui 3vee+u4 / 25
4199+ 0.0
-36.3+ 0.0

1(;0
TP delay [ns]

TVC(chehy=(1, 14, 11

4000 |,

3000 -

2000 =

lo00r C = 29.08 [ps/ch]

- nuiL yse+ud [ 25
pO 4214+ 00
pL -34.39+ 0.00

50

1
100

TP delay [ns]

TVC(eb.ch)=(1, 14, 15

4000

3000

2000

1000

- i pole+ud [ 25
4256+ 0.0
-36.71+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

T r14e+04 /25
- pO 4206+ 0.0
pl -38.09 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,154

S i1 b3e+u4 /25
- pO 4226+ 0.0
pl -36.59+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

- nwizil1e+ud ] 25
- po 4227+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T L yze+u4 / 25
= po 4234+ 0.0
p1 355+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,15,1)

. PO

A7 1 nuiLbbse+ud [ 25
4209+ 0.0
pl -37.41+ 0.00

TP delay [ns]

TVC(cbch) (1,155

- pO

-1 nui bgre+u4 / 25
4229+ 0.0
pl -36.33+ 0.00

TP delay

TVC(c, bch) (1, 15 9

= po

[ns]

T nun.4/ze+04 [ 25
4260+ 0.0
pl -36.47 + 0.00

TP delay

TVC(cbch) (115,13

= po

[ns]

Tinan 1 y4e+ud [ 25
4230+ 0.0
pl -35.55+ 0.00

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

TP delay [ns]

TVC(cbch) (1,156

A~ 1 nui osie+u4 /25
_l' po 4229+ 0.0
o pl -38.31+ 0.00

3000

-1 b43e+04 [ 25
- pO 4230+ 0.0
[ pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

T z53e+04 /25
- DO 4273+ 0.0
L pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (115,14

TrnuiLbr1e+04 /25
- pD 4238+ 0.0
L pl -34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

e po

AT L sase+ud [ 25
4219+ 0.0
pl -36.93+ 0.00

TP delay

TVC(c, bch) (1,157

o= pO

[ns]

- nun blge+ud / 25
4231+ 0.0
pl -35.41+ 0.00

TP delay

TVC(eheh)=(1, 15, 11

- pO

[ns]

T nuiLys/e+ud [ 25
4291+ 0.0
p1 -36.43+ 0.00

TP delay

TVC(cbch) (1,15,15

[ns]

Tonae L sle+ud [ 25
4236+ 0.0
p1 -35.33+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,0

A7 1nuiosze+u4 /25
- po 4207+ 0.0
pl -37.68 0.00

TP delay [ns]

TVC(cbch) (2,0,4

- rnu, 1yze+ud [ 25
e, pO 4193+ 0.0
p1 -34.82:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 0,8

T L, fobe+u4 / 25
4188+ 0.0
-35.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,0,12

T L gsse+u4 / 25
= po 4206+ 0.0
pl -34.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,0,1)

AT rnuiL r11e+u4 /25
Frase po 4222+ 0.0
pl -37.53+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

~ 1 nuay4z3e+04 [ 25
o, pO 4196+ 0.0
pl -34.51+ 0.00

[ C =28.97 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 0,9

~ 1 nu 350e+u4 / 25
= pO 4201% 0.0
pl -35.92 + 0.00

TP delay [ns]

TVC(C, bch) (2,0,13

T nuiL yoze+ud / 25
pO 4222+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,0,2)

A7 1 nui oyse+ud / 25
_l' po 4215+ 0.0
o pl -36.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,0,6

- U B8be+u4 / 25
- pO 4214 0.0
[ pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2, 0 10

1000

0

T nug bz e+u4 [ 25
e, po 4227+ 0.0
L pl -36.43+ 0.00

TP delay [ns]

TVC(cbch) (2,0,14

1 nuiLpyve+u4 | 25
- pD 4219+ 0.0
L pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3

AT 1 nuiLbzae+u4 | 25
P, po 4208+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

C o 8ye+u4 | 25
- pO 4213+ 0.0
-34.7+ 0.0

TP delay [ns]

TVC(c,b ch) (2, O

Tz :me+u4/25
= po 4237+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(C, bch) (2,0,15

-1 nuiz.yuoe+ud / 25
= pO 4205+ 0.0
p1 -34.62 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0

AT 1nuis to/e+u4 /25
- po 4221+ 0.0
pl -40.36 + 0.00

[
50 100

TP delay [ns]

TVC(cbch) (21,4

- i Z58e+04 / 25
o, pO 4178+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

Tz 131e+04 /25
- po 4217+ 0.0
-36.9+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (21,12

© i gope+u4 / 25
= po 4205+ 0.0
pl -35.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1

AT 1 nuzosoe+ud [ 25
[ po 4215+ 0.0
pl -39.12+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

-1 nui b34e+04 / 25
Frwe pO 4194 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 1

T inug.zole+ud [ 25
- pO 4244+ 0.0
pl -37.18+ 0.00

TP delay [ns]

TVC(cbch) (21,13

TinuiLyz/e+ud [ 25
- pO 4227+ 0.0
pl -36.56 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

A7 1 nuigsooe+u4 / 25
_l'_ po 4221+ 0.0
L pl -37.94+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,1,6

T 43 /e+u4 [ 25
P, po 4198+ 0.0
[ pl -35.87 + 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

© 1L zbde+u4 | 25
- po 4243+ 0.0
- pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (21,14

T/ rpe+u4 [ 25
n DD 4222+ 0.0
[ p1 -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

AT rnun gne+u4 /25
Facee po 4229+ 0.0
pl -37.96 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

-1 nui blye+ud / 25
E pO 4198+ 0.0
pL -35.79+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 1

T b‘Jie+U4/25
- pO 4248+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (21,15

T inairu1e+u4 / 25
- pO 4204+ 0.0
p1 -35.97 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

A1

orie+u4 /25
4176+ 0.0
-35.13+ 0.00

TP delay [ns]

TVC(cbch) (2,24

[, pO
pl

- i 3p9e+u4 / 25
4198+ 0.0
-37.34+ 0.00

TP delay [ns]

TVC(cbch) (2,2,8

= pD

1 nui by /e+u4 [ 25
4191+ 0.0
-35.32+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

~ i 1ope+u4 / 25
4236+ 0.0
-37.17+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

=, pO

T nun Lbse+ud [ 25
4189+ 0.0
-36.32+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 2,5

Snun1b/e+04 /25
4183+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

-1 nug yoze+ud / 25
4235+ 0.0
-35.6 + 0.0

1
100

TP delay [ns]

TVC(C, bch) (2,213

Tinai g r3e+ud [ 25
4222+ 0.0
-36.31+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

™, pO

“rnun Lbye+ud | 25
4194+ 0.0
pl -36.79 + 0.00

TP delay

TVC(cbch) (2,2,6

pO
pl

[ns]

T 1L 74ze+04 [ 25
4198+ 0.0
-37.12+ 0.00

TP delay

TVC(ebeh)=(2,2, 10

- DO

[ns]

~1nuizulge+ud | 25
4228+ 0.0
pl -36.12+ 0.00

TP delay

TVC(cbch) (2,214

[ns]

- L 55 e+04 ] 25
4229+ 0.0
pl -37.04 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3)

buze+u4 / 25
4206+ 0.0
-37.69 % 0.00

A

= pO
pl

TP delay [ns]

TVC(c,b ch) (2 2,7

=g,
pO
pl

ro1le+u4 /25
4202+ 0.0
-37.01+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2, 2

= pO

AL s/ze+u4/25
4221+ 0.0
-35.46 + 0.00

pl

TP delay [ns]

TVC(C, bch) (2,215

<1 nui oooe+ud / 25
4223+ 0.0
-35.79+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0

X~ 1w 4uie+u4 /25
[, PO 4207+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (2,34

- i 39se+u4 / 25
- pO 4208+ 0.0
pl -36.65 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 3,8

T rnugbzze+04 | 25
- PD 4227+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (2,312

a1 Sre+ud 125
- PO 4229+ 0.0
pl -34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

AT 1 nuiL 3oe+u4 [ 25
™, po 4215+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

~nun1.48e+04 [ 25
- DU 4197+ 0.0
pL -35.71+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (2 3,9

T inun.z13e+04 / 25
- DO 4258+ 0.0
pl -37.68 + 0.00

TP delay [ns]

TVC(C, bch) (2,313

T sre+u4 [ 25
- PO 4228+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (2,3,2)

A7 1 nui zove+U4 / 25
- PO 4211+ 00
r pl -36.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

- i 483e+04 [ 25
- pO 4218+ 0.0
I pl -35.98:+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 3 10

1000

T 1nu.334e+04 [ 25
- DO 4270+ 0.0
3 pl -36.32.+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,3 14

~ 1L, rupe+u4 / 25
4227+ 0.0
-34.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

AT 1 nuiL3ove+u4 [ 25
e PO 4208+ 0.0
p1 -35.96 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

- nuiblie+ud / 25
= PO 4198+ 0.0
pL -35.17 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

SRR /‘Jée+U4/25
- pO 4259+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (2,315

- i 15ye+ud [ 25
- PO 4229+ 0.0
pl -36.08 + 0.00

TP delay [ns]



TVC(cbch)(240) TVC(cbch)(24l) TVC(cbch)(242) TVC(cbch)(243)
T Lyoe+ud /25 AT 1 nuiLbsse+ud [ 25 A~ 1nuiLoroe+ud /25 AT 1L rzoe+u4 [ 25
4000 fme, po 4205+ 0.0 4000 [, po 4191+ 0.0 4000 e, po 4198+ 0.0 4000 fe, po 4220% 0.0
pl -35.06 + 0.00 pl -34.6 £ 0.0 r pl -35.42+ 0.00 pl -36.44 + 0.00

- 3000

3000 N

1 3000 =1 3000

2000 — 2000 - 2000 ] 2000

1000 E 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (2,4,7

- i b18e+u4 / 25 -1 344e+04 [ 25 -1 i bybe+u4 / 25 -1 nun bg3e+u4 / 25
4000 pO 4209+ 0.0 4000 e, pO 4219+ 0.0 4000 e, pO 4229+ 0.0 4000 e, pO 4226+ 0.0
pl -35.92+ 0.00 pL -35.97 + 0.00 3 pl -36.91+ 0.00 -36.4+ 0.0

3000~ 1 3000 - 3000 [~ B 3000 1

2000 - — 2000 - 2000~ - 2000 4

10001~ C - 1000 - 1000 r C=27.09 [pS/Ch ] 1000 -

-- [ - ] -
1 2 1 % 1 [
EY 00 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

T nuiLyroe+ud /25 T g Zobe+u4 [ 25 T 1nu.a4ze+04 | 25 EEALEVX uU4e+u4/25
4000 4246+ 0.0 4000 pO 4260+ 0.0 4000 [, DO 4276+ 00 4000, p0 4281% 0.0
Pl -38.43% 0.00 PL_ -37.47%0.00 [ PL_ -37.32+ 0.00 Pl -37.68+ 0.00

-1 3000

m
o
S

3000~ 1 3000 -1 3000 .

2000 1 2000 E 2000 B 2000 g
1000 4 1000 - 1000 - 1000 4
. - [
-
% 50 00 0 0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
Tl rse+u4 /25 T nuib3ae+ud [/ 25 ~ i gose+u4 / 25 T nui oy /e+ud [ 25
4000 [m, pO 4245+ 0.0 4000 pO 4229+ 0.0 4000 PD 4233+ 0.0 4000 o, pO 4237+ 0.0
-34.71+ 0.00 -35.15+ 0.00 I pl -35.22+ 0.00 pl -35.15 + 0.00

3000~

-1 3000 - 3000 - 3000 .

2000~ - 2000 - 2000 - 2000

wof C = 28.81 [ps/ch] ] 1000 - 5 E 1000: — 1000 4
'5(')""10'0'- ""E'd""m'o'-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0)

AT zole+ud /25
4215+ 0.0
-35.93+ 0.00

TP delay [ns]

TVC(cbch) (2,54

P, PO
pL

- 1nuiL443e+04 / 25
4188+ 0.0
-36.48 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2 5,8

B pD

Tz 1oze+04 [ 25
4215+ 0.0
-34.57 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,5,12

- po
p1

TrnuiLzse+u4 | 25
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4227+ 0.0
-34.84+ 0.00

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2, 12 2)

TP delay [ns]

TVC(cbch) (2.12,6

T4 roe+u4 [ 25
o= pO 4218+ 0.0
L pl -37.41+ 0.00

3000

- i b3ge+ud / 25
- pO 4236+ 0.0
[ pl -36.61+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

Trnuizyr1e+u4 /25
-, po 4235+ 0.0
- pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (212,14

T Looe+ud /25
. pD 4243+ 0.0
L pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

AT 1L ouse+u4 [ 25
4217+ 0.0
pl -36.57 + 0.00

po

TP delay

TVC(c, bch) (2,12,7

- pO

[ns]

S nun 1 pze+ud [ 25
4266+ 0.0
pl -37.58 + 0.00

50 100
TP delay

TVC(cbch) (2, 12 11

= pO

[ns]

Tinaib/e+ud [ 25
4238+ 0.0
pl -35.12+ 0.00

TP delay

TVC(cbch) (212,15

[ns]

-1 nai buae+ud /25
4233+ 0.0
p1 -35.12+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

© Lo 3pe+u4 / 25
.. pO 4204+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (2,134

- 1 i a8ae+u4 [ 25
pO 4240 0.0
p1 40,05+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

T i g83e+U4 / 25
- pO 4204+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (213,12

T rnuiLoy1e+u4 / 25
- po 4230+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(chh) (2,13,1)

3000

2000

1000

A7 1 nuiLbose+ud [ 25
4000 [ po 4222+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(c, bch) (2,135

4000 =

3000

2000

1000

=11 bbae+u4 / 25
- pO 4243+ 0.0
pL -39.52:+ 0.00

TP delay [ns]

TVCEebeN)=(2 13,9

4000

3000

2000

1000

T inugn3/e+ud [ 25
4228+ 0.0
-34.81+ 0.00

TP delay [ns]

TVC(cbch) (213,13

4000 [

3000

2000

1000

T nuioo3e+ud [ 25
pO 4224+ 0.0
pl -36.03+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (2, 13 2)

T srve+ud [ 25
pO 4212+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(cbch) (2,136

Crnuan ze+u4 [ 25
pO 4253+ 0.0
pl -39.65 + 0.00

100
TP delay [ns]

TVC(cbch) (2,13,10

©1nuizyove+ud | 25
po 4239+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (2,13, 14

T rnuiL4sse+u4 [ 25
pD 4227+ 0.0
pl -35.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

AT 1L bsse+ud [ 25
po 4226+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(c, bch) (2,137

- i role+u4 / 25
E pO 4255+ 0.0
p1 -39.14 + 0.00

TP delay [ns]

TVC(ebeh)=(2,13, 11

T nui sz e+u4 [ 25
e pO 4241% 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (213,15

Tonan L 3e+ud [ 25
po 4228+ 0.0
-35.65+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,14,0)

“anuiLible+ud / 25
e, PO 4174+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (2,144

[ C=27.10[ps/c ]

-1 Zoe+ud [ 25
™, pO 4182+ 0.0
pl -36.9+ 0.0

50 100

TP delay [ns]

TVC(cbch) (2, 14 8

T nuig.uzze+u4 | 25
- PD 4226+ 0.0
pl -37.45+ 0.00

TP delay [ns]

TVC(cbch) (214,12

T nuiLsule+ud / 25
- PO 4213+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (2,14,1)

4000 [,

=, po

A~ 1L 4uve+ud [ 25
4177+ 0.0
-36+ 0.0

pl

3000

2000

1000

TP delay

TVC(c, bch) (2,145

4000 o pO

pl

[ns]

“nun1.34e+04 /25
4210+ 0.0
-37.31+ 0.00

3000

2000

w00~ C = 26.80 [ps/c

TP delay

TVCebeh)=(2, 14,9

4000 e

[ns]

-1 nug.ysoe+ud / 25
4250+ 0.0
pl -37.36 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (214,13

4000 po

[ns]

T inuiasbe+ud [ 25
4213+ 0.0
-37.1+ 0.0

3000

2000

1000

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,14,2)

A7 1 nuiozae+04 /25

= po 4177 0.0
[ pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (2,146

- 1L 529e+04 | 25
- pO 4216+ 0.0
I pl -36.56 + 0.00

TP delay [ns]

TVC(epeh)=(2, 14,10)

1000

0

© 1 nuz,ub4e+u4 [ 25
- DO 4260+ 0.0
3 Pl -37.26% 0.00

TP delay [ns]

TVC(cbch) (2.14,14)

~ 1L pube+ud / 25
- PD 4211+ 0.0
i pl -36.25 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,14,3)

= pO

R zzae+04 [ 25
4181+ 0.0
pl -34.75+ 0.00

TP delay

TVC(c, bch) (2,14,7

[ns]

-1 nui 438e+04 / 25
4212+ 0.0
-36.1+ 0.0

TP delay

TVC(cbch) (2, 14 1

e, pO

[ns]

~ 1 nuiz.usae+ud [ 25
4264 £ 0.0
pl -37.59 + 0.00

TP delay

TVC(cbch) (2,14, 15

X~ 11 Lo
- 00
p1

[ns]

be+u4 / 25
4212+ 0.0
-35.9+ 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 15 0)

e, pO

T rnuiLgive+u4 [ 25
4174+ 0.0
-35.7+ 0.0

pl

TP delay [ns]

TVC(cbch) (2,154

T bl/e+ud [ 25
4189+ 0.0
-35.68 + 0.00

foee. pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 15 8)
=1 nuiLyobe+ud / 25
= pO 4210+ 0.0
-36.71+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,15, 12

- pO

T rnuiLb43e+04 / 25
4218+ 0.0
-35.31+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,15,1)

. PO

AT 1 nunLssve+ud [ 25
4186+ 0.0
-35.58 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,155

=1 i bube+u4 / 25
4186+ 0.0
-34.69 + 0.00

TP delay [ns]

TVC(ebeh)=(2 15,9

~ 1 nu sbye+ud / 25
4236+ 0.0
-36.09 + 0.00

TP delay [ns]

TVC(cbch) (215,13

= po

T inui ssae+ud [ 25
4207+ 0.0
-34.91+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (2,15,2)

™, po

AT 1nun zsze+04 [ 25
4190+ 0.0
pl -35.62+ 0.00

TP delay

TVC(cbch) (2,156

pO
p1

[ns]

T L4 /5e+04 [ 25
4199+ 0.0
-35.88 + 0.00

TP delay

TVC(cbch) (2, 15 10

1000

0

- o

[ns]

T z4ze+04 /25
4266+ 0.0
p1 -37.48 + 0.00

TP delay

TVC(cbch) (2,15, 14

- pD

[ns]

~1nuiLg44e+04 / 25
4223+ 0.0
pl -35.43+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

o po

AT 1 nuiL$o4e+U4 [ 25
4197+ 0.0
pl -35.66 + 0.00

TP delay

TVC(c, bch) (2,157

pO
pl

[ns]

- nu /18e+u4 / 25
4211+ 0.0
-36.09 + 0.00

TP delay

TVC(ehch)=(2, 15, 11

e pO

[ns]

T nuiL roYe+u4 /25
4238+ 0.0
pl -35.58 + 0.00

TP delay

TVC(cbch) (2,15,15

[ns]

Tinaiarie+ud [ 25
4211+ 0.0
-33.28 + 0.00

[ C =30.04 [ps/ch] .

PR PR S S |
50 100

TP delay

[ns]



TVC(cbch) (3,0,0)

A1 ryse+ud [ 25
4000 & po 4203+ 0.0
pL -38.14  0.00
3000 ]
2000~ ]
1000 = ]
0 = oo
TP delay [ns]
TVC(cbch) (3,0,4)
-1 1 sse+u4 | 25
4000 5, pO 4216+ 0.0
pL -37.63+ 0.00
3000 [~ ]
2000~ ]
1000 = ]
0
TP delay [ns]
TVC(cbch) (3 0,8)
1000 E T nug,szoe+ud [ 25
= po 4168+ 0.0
-34.03 + 0.00
3000 - 7
2000 - ]
10r C =29.39 [ps/ch]™, 7
1 1 -
b 50 100
TP delay [ns]
TVC(cbch) (3,0,12)
T, f1se+ud / 25
4000 e pO 4240+ 0.0
p1 -35.69 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

P po

p1

AT 1 nuiLsbye+ud [ 25
4173+ 0.0
-36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

-1 nu.439e+04 [ 25
4208+ 0.0
-36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

= po

pl

-1 nug.ygse+ud / 25
4211+ 0.0
-34.74+ 0.00

TP delay [ns]

TVC(C, bch) (3,0,13

Tinuzus/e+ud [ 25
4223+ 0.0
-35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

. 90
L p1
3000:— __
2000:— _:
wof C = 20,32 [psich],, ]
. % o

4000

3000

2000

TVC(cbch) (3,0,2)

po

pl

A7 nun ssae+04 /25
4192+ 0.0
-37.2+ 0.0

TP delay [ns]

TVC(cbch) (3,06

- 1nuz lobe+u4 [ 25
4231+ 0.0
-38.1+ 0.0

TP delay [ns]

TVC(cbch) (3, 0 10

1 nuzbyve+u4 | 25

4202+ 0.0
-34.11+ 0.00

TP delay [ns]

TVC(cbch) (3,0,14

1000

- pD

pl

~ 1 nuiLyose+ud / 25
4233+ 0.0
-36.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3)

e po

AT 1L bsye+ud [ 25
4201+ 0.0
-37.17 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 0,7

pO
pl

-1 nu.2yae+u4 [ 25
4238+ 0.0
-38.03+ 0.00

100

TP delay [ns]

TVC(c,b ch) (3, O

= pO

T zsze+u4/25
4208+ 0.0
-34.81+ 0.00

pl

TP delay [ns]

TVC(C, bch) (3,0,15

-1 nui yose+ud / 25
4217+ 0.0
-34.74+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

A7 1 nui osse+ud / 25
- po 4180+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (31,4

- 1 i Bobe+ud / 25
pO 4200+ 0.0
pl -36.00+ 0.00

TP delay [ns]

TVC(cbch) (3 1,8

1z 1uge+u4 / 25
= po 4190+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (31,12

T bzze+04 [ 25
= po 4213+ 0.0
pl -34.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

T/ Lboe+ud /25
o, pO 4188+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

=1 nui bble+ud / 25
pO 4188+ 0.0
p1 -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

T nup. Y1ve+ud / 25
po 4196+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (3,1,13

T inuiplse+ud / 25
pO 4221% 0.0
pl -36.77 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

A7 1 nuisyze+u4 /25
po 4180+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (31,6

T i /4/e+04 [ 25
e pO 4207+ 0.0
L pl -36.24+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

T,/ rge+u4 | 25
bese, po 4195+ 0.0
L pl -35.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

T rnuiLgnie+ud [ 25
-, pD 4208+ 0.0
L p1 -35.72+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

AT rnuiLsyLe+ud [ 25
- po 4202+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (3 1,7

-1 nuz.03be+u4 / 25
- pO 4218+ 0.0
pL -36.67+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

T ab/e+u4/25
= po 4212+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (31,15

T inuipz/e+u4 /25
- po 4218+ 0.0
p1 -35.29+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

.. po

X~ 1w syoe+U4 [ 25
4169+ 0.0
-35.73+ 0.00

pl

TP delay [ns]

TVC(cbch) (3,24

- i bo3e+ud / 25
4177+ 0.0
-35.62+ 0.00

TP delay [ns]

TVC(ebioh)=(3, 2,8

E pD

p1

1 nuiLyyoe+u4 / 25
4221+ 0.0
-35.74 + 0.00

TP delay [ns]

TVC(cbch) (3,212

-1 prse+ud [ 25
4226+ 0.0
-35.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1)

= po

A7 1 nuiLbsbe+u4 / 25
4190+ 0.0
-36.81+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3,2,5

X~ g,

1o8e+04 | 25
4202+ 0.0
-37+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 2,9

X1,

B po
pl

182e+U4 | 25
4234+ 0.0
-36.49 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 2 13

Tinai143e+u4 /25
4226+ 0.0
-35.86 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

I 1
05 B 100

TVC(cbch) (3,2,2)

e, PO

A~ 1L or4e+04 /25
4195+ 0.0
-37.53+ 0.00

pl

TP delay [ns]

TVC(cbch) (32,6

pD
pl

-1 nuiL bobe+ud / 25
4201+ 0.0
-36.46 + 0.00

TP delay [ns]

TVC(CbCh) (3, 2 10

=1 nug,

121e+U4 125
4275+ 0.0
-38.3+ 0.0

TP delay [ns]

TVC(cbch) (3,214

1L bEpe+U4 / 25
4219+ 0.0
-35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3)

e po

A™rnuaiLbz1e+ud [ 25
4195+ 0.0
-37.24+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 2,7

pO
pl

-1 nui byae+u4 [ 25
4207+ 0.0
-35.85+ 0.00

1
100

TP delay [ns]

TVC(eheh=(3, 2,

EEALEVX UUée+U4/25
4268+ 0.0
-37.36+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 2 15

T nui pose+ud [ 25
4234+ 0.0
-35.38 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0)

A7 nuinsse+ud /25
4189+ 0.0
-35.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,34

-1 zbge+u4 [ 25
= pO 4210+ 0.0
343+ 0.0

[ C =29.15 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

L, fube+u4 / 25
= po 4212+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (3,312

T i Eze+u4 [ 25
pO 4232+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,31

AT rnuLsyie+ud [ 25
Fee,, po 4197+ 0.0
pl -36.63+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 4p9e+04 / 25
- pO 4223+ 0.0
p1 -35.44 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

T nu.z3ae+u4 25
= pO 4221+ 0.0
p1 -34.82+ 0.00

TP delay [ns]

TVC(C, bch) (3,313

T inuiLorae+ud [ 25
pO 4234+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000

2000

TVC(cbch) (3,3,2)

T 1sae+u4 /25
- pO 4213+ 0.0
o pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

= 1 i bobe+u4 / 25
- pO 4232+ 0.0
[ pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

T 1nuizu4se+u4 | 25
4250+ 0.0
-35.7 + 0.0

TP delay [ns]

TVC(cbch) (3,314

1000

T rnuiLpsle+u4 / 25
- pD 4216+ 0.0
L p1 -36.02+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

AT rnuiL3s1oe+ud [ 25
=, po 4212+ 0.0
p1 -34.64+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

-1 nui 3yve+u4 / 25
pO 4248+ 0.0
p1 -34.67+ 0.00

[ C =28.84 [ps/ch] ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 3

T bbde+l}4/25
= po 4250+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(C, bch) (3,315

T nai r0oe+u4 / 25
pO 4238+ 0.0
p1 -36.58 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0)

AT inuiLorse+ud /25
4193+ 0.0
-36.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (34,4

T L 3r5e+04 / 25
- pO 4228+ 0.0
pl -36.18:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 4,8

[ C =29.04 [ps/ch]

T a2y rge+ud | 25
= po 4210+ 0.0
-34.43+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,4,12

T~ rnuiLyyze+u4 | 25
= po 4236+ 0.0
pl -36.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1

AT 1 nunLroze+ud [ 25
., po 4190+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

=1 nui bble+ud / 25
pO 4232+ 0.0
pL -36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

-1 nuw.aype+ud | 25
4230+ 0.0
-35+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,4,13

TinuiLy4ie+ud [ 25
pO 4223+ 0.0
p1 -37.42+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,4,2)

A7 1 nui osoe+ud / 25
- po 4187+ 0.0
L pl -35.9+ 0.0

3000

TP delay [ns]

TVC(cbch) (34,6

T i/ (5e+04 [ 25
- pO 4241 0.0
3 -37.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

Tz, 34ze+04 | 25
- po 4240+ 0.0
- pl -35.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (34,14

T Ly rve+u4 [ 25
= pD 4222+ 0.0
L p1 -37.02+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3)

AT 1nun L se+u4 [ 25
oes, po 4206+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

- nui ype+u4 / 25
- pO 4248+ 0.0
pL -36.08:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 4

T g we+u4/25
- pO 4244+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(C, bch) (34,15

Tinui sz e+u4 /25
- po 4225+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

A7 1 nui suoe+ud / 25
Frcea. po 4201+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (3,54

-1 374e+04 / 25
. pO 4213+ 0.0
p1 -35.47+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 58

©1nuig.poge+u4 / 25
- pO 4240+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (3,5,12

pO
p1

T 1L, robe+u4 / 25
4293+ 0.0
-36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

x- 1 L dose+ud | 25
I e po 4227+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

S nu b ze+u4 [ 25
e, pO 4203 0.0
p1 -34.79+ 0.00

TP delay [ns]

TVC(c,b ch) (3 59

T naia38e+ud [ 25
- po 4269+ 0.0
p1 -35.46 £ 0.00

TP delay [ns]

TVC(C, bch) (3,5,13

~ 1 nuiL byse+ud 25
pO 4281% 0.0
pl -36.87 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

K™ 1 nuiL4uoe+u4 /25
. po 4232+ 0.0
- pl -36.02 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

-1 b14e+04 / 25
- pO 4207+ 0.0
X pl -34.49 + 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

©1nuzbyze+u4 | 25
- po 4283+ 0.0
[ pl -35.04 + 0.00

L C = 28.54 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

~ i boze+04 [ 25
pD 4282+ 0.0
pl -36.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,53)

T nun Lgoe+ud [ 25
=, pO 4240+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 i bbze+u4 / 25
- pO 4219+ 0.0
p1 -34.46+ 0.00

[ C =29.02 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

EEALEVX ume+u4/25
- po 4289+ 0.0
p1 -35.14+ 0.00

[ C =28.45 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T inuiplye+ud [ 25
- pO 4294+ 0.0
-37.01+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

K™ 1nuitore+ud /25
.. po 4175+ 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(cbch) (36,4

- i z9pe+04 / 25
- pO 4240 0.0
pl -36.83+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

©1nuz.gz4e+04 | 25
- po 4228+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

T rnuiLp4le+ud / 25
= po 4221+ 0.0
pl -35.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

AT 1 nunL1yoe+ud [ 25
- po 4186+ 0.0
pl -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

~nuiZ/4e+04 [ 25
- pO 4256+ 0.0
pL -37.66+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

~ 1 nug. rbbe+ud / 25
= po 4256+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,13

T nui zoye+ud / 25
pO 4233+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

AT inuizrse+04 /25
po 4203+ 0.0
pl -35.39 0.00

TP delay [ns]

TVC(cbch) (36,6

-1 nui2yge+u4 [ 25
pO 4258+ 0.0
pl -37.02 0.00

TP delay [ns]

TVC(cbch) (3, 6 10

1 nuizyeye+ud | 25
po 4249+ 0.0
pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (3,6,14

TrnuiLzyre+u4 [ 25
DD 4245+ 0.0
-36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1L sooe+ud [ 25
- po 4192+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

“ o 1.49e+04 [ 25
- pO 4261+ 0.0
pL -38.03+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T yaze+u4/25
- pO 4264+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

71 nui boye+ud [ 25
pO 4239+ 0.0
-35.74+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

AT 1nuisore+u4 /25
4195+ 0.0
-35.28+ 0.00

TP delay [ns]

TVC(cbch) (3,7,

- i zose+u4 [ 25
4204+ 0.0
-35.59 + 0.00

== po
pl
- C -1
% i
TP delay [ns]
TVC(cbch) (3 7,8
iy pD

©1nuiz,gu4e+u4 [ 25
4212+ 0.0
-37.19+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

© i syse+u4 / 25
4225+ 0.0
-34.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,1)

=, po

AT 1 nunLbyze+ud [ 25
4200+ 0.0
-35.12+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (3 7,5

“nuiZ/ve+04 [ 25
4193+ 0.0
-34.89 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

T nu B43e+U4 25
4239+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

T nai zgbe+ud [ 25
4208+ 0.0
-35.11 + 0.00

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

T rze+ud /25
o=, pO 4215+ 0.0
L pl -36.2+ 0.0

3000

TP delay [ns]

TVC(cbch) (37,6

= PO

p1

-1 3oze+04 [ 25
4211+ 0.0
-35.98 + 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

= o

Tz 3r4e+04 /25
4254+ 0.0
-36.92 + 0.00

pl

TP delay [ns]

TVC(cbch) (3,7,14

T pzie+ud /25
I pD 4209+ 0.0
L p1 -34.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

e po

AT 1 nuiLbbre+ud /25
4215+ 0.0
-35.51+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 7,7

b=, pO
pl

- nun bzve+u4 [ 25
4225+ 0.0
-35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

= pO

T, 155e+u4/25
4253+ 0.0
-37.12+ 0.00

pl

TP delay [ns]

TVC(C, bch) (3,7,15

P, pO

T inaiasze+ud [ 25
4215+ 0.0
-35.563+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

X~ 1w 4o9e+04 [ 25
- PO 4219+ 0.0
pl -37.46 + 0.00

TP delay [ns]

TVC(cbch) (38,4

= i bobe+u4 [ 25
pO 42221 0.0
pl -35.44  0.00

L o ]
% T
TP delay [ns]
TVC(cbch) (3 8,8

T, rz9e+04 | 25
PD 4249+ 0.0
pl -38.38 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,812

~ i o8se+u4 / 25
PO 4238+ 0.0
pl -36.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

A1 4zve+ud [ 25
- PO 4197 0.0
pl -35.6 0.0

TP delay [ns]

TVC(c,b ch) (3 8,5

“nun 1 bge+ud [ 25
DU 4209+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

~nung.3ve+ud [ 25
DO 4264+ 0.0
-37.7£ 0.0

TP delay [ns]

TVC(C, bch) (3,8,13

T bz e+u4 [ 25
pO 4233+ 0.0
pl -36.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,82)

X~ 1w 49ve+U4 [ 25
- po 4199 0.0
r pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

=1 nurL bube+u4 / 25
- pO 42174 00
[ PL_ 3532+ 0.00

TP delay [ns]

TVC(cbch) (3, 8 10

T nug, 13ze+04 / 25
- DO 4271£ 00
H PL_ -38.09% 0.00

50 100

TP delay [ns]

TVC(cbch) (3,814

T i 50se+u4 / 25
- pD 4231+ 0.0
F pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1 nuiLoy/e+u4 /25
- PO 4229% 0.0
pl_ -37.22%0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

-1 i byye+ud / 25
- PO 4238+ 0.0
Pl -36.23: 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

AL sue+u4/25
F= p0 4275 0.0
pL -38.21+ 0.00

TP delay [ns]

TVC(C, bch) (38,15

T nuiag/e+ud [ 25
4242+ 0.0
-35.81+ 0.00

TP delay [ns]



TVC(c,b Ch) (3,9,0) TVC(c,b Ch) (3,9,1) TVC(c,b Ch) (3,9,2) TVC(c,b Ch) (3,9,3)
A~ 1L dsier0d | 25 X~ 1L dsae+Ud ] 25 K- 1L beserid | 25 X~ 1L drser0d ] 25
4000 fme,, po 4214+ 0.0 4000 fm,, po 42312 0.0 4000 fm PO 4230+ 0.0 4000 fos PO 4228+ 0.0
Pl 3557+ 0.00 Pl -36.09:+ 0.00 L PL_ -35.85: 0.00 Pl -34.99:+ 0.00

3000

E 3000 - 3000 - 3000 B

2000 - 2000 = 2000 N 2000

1000 = 1000 1 1000~ 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39, TVC(cbch) (39,6 TVC(c, bch) (39,

“ g b)bleﬂJA 125 T rnar b)SLE+U4/25 “narg, I)bze+U4 125 S L)de+U4/25
4000 [, pO 4208+ 0.0 4000 Fem, pO 4215+ 0.0 4000 fe, pO 4230+ 0.0 4000 fas pO 4240+ 0.0
pl 3502 0.00 -36.1% 0.0 L Pl -35.98+ 0.00 Pl -35.09: 0.00

3000 - 3000 - 3000 ] 3000 E

2000 _ 2000 - 2000 — — 2000 ]

L ] 1000 - 1000F ~ = ] [~ h

1000f C rC=27.80 [pS/Ch ] woof- C = 28.49 [pS/Ch
I 2 o I = I L I =
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3, 9, 11)
T4l e+u4 /25 T nu, 718e+U4 / 25 1 nuiz.4une+u4 [ 25 T nuiz 115e+04 / 25
4000 o, pO 4215+ 0.0 4000 pO 4227+ 0.0 4000 fo DO 4248+ 0.0 4000 4255+ 0.0
pl -34.96 + 0.00 pl -35.53 + 0.00 F pl -34.94 + 0.00 -36+ 0.0

-1 3000

3000 N 3000 - 3000

2000 - 2000 2000 - 2000

1000 - 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(C, bch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

T i p34e+u4 / 25 T/ 1ge+u4 [ 25 T 1ze+U4 [ 25 T gbre+u4 [ 25
4000 = pO 4269+ 0.0 4000 [ pO 4248+ 0.0 4000 [, PD 4254+ 0.0 4000 fo, pO 4247400
Pl -36.61+ 000 Pl -36.770.00 L Pl -37.89+ 0.00 Pl -37.03000

- 3000

3000 -1 3000 1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,10,0)

T gose+u4 [ 25
4218+ 0.0
pl -36.99 + 0.00

TP delay

TVC(cbch) (3,104

pO
pl

[ns]

- i Blge+ud / 25
4204+ 0.0
-36.79+ 0.00

50 10‘0
TP delay

TVC(cbch) (3, 10 8

== pD

[ns]

S 2.63e+04 [ 25
4250+ 0.0
-37+ 0.0

p1

TP delay

TVC(cbch) (310,12

- po
p1

[ns]

T i, rooe+u4 / 25
4233+ 0.0
-35+ 0.0

TP delay

[ns]

TVC(cbch) (3,10,1)

4000 &

3000

2000

1000

- po

AT 1 nunLsoze+ud [ 25
4220+ 0.0
pl -37.98+ 0.00

TP delay

TVC(c, bch) (3,10,5

=g,

4000

3000

2000

1000

[ns]

2e+04 /25
4211+ 0.0
-36.8 + 0.0

1
50 100

TP delay

TVC(c,b ch) (3, 10

4000 pO

T nai 31ve+u4 / 25
4263+ 0.0
pl -36.66 + 0.00

3000

2000

1000

[ns]

TVC(cbch) (3,10,13

TP delay

X~ a4

4000 e,

3000

2000

1000 |-

po
p1

[ns]

ze+u4 | 25
4233+ 0.0
-34.32+ 0.00

C =29.13 [ps/ch]

PR BRSNS |
50 100

TP delay

[ns]

4000 (S
3000

2000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(cbch) (3,10,2)

- po

AT 1nuisyre+u4 /25
4218+ 0.0
pl -37.45+ 0.00

TP delay

TVC(cbch) (3.10,6

pO
pl

[ns]

~ i 744e+04 | 25
4224+ 0.0
-36.63 + 0.00

TP delay

TVC(cbch) (3, 10 10

- DO

[ns]

©1nuig.yyde+ud | 25
4276+ 0.0
pl -37.16+ 0.00

TP delay

TVC(cbch) (3.10,14

== pD
pl

[ns]

T roe+u4 [ 25
4235+ 0.0
-35.2+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,10,3)

[, pO

A~ 1w ag1e+ud | 25
4218+ 0.0
-36.05+ 0.00

pl

TP delay [ns]

TVC(c, bch) (3,10,7

-,

F po
pl

18be+04 | 25
4232+ 0.0
-37.99+ 0.00

rc

50 100

TP delay [ns]

TVC(cbch) (3, 10 1

= pO

T nuz.zgle+ud [ 25
4273+ 0.0
-36+ 0.0

TP delay [ns]

TVC(cbch) (3,10,15

T nai rope+ud [ 25
4224+ 0.0
-35.62+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (3,11,0)

AT nun ssze+04 /25
4185+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (3,11,4

-1 i adye+ud 25
e, pO 4169+ 0.0
pl -35.31 0.00

FC -
| L -
50 100
TP delay [ns]
TVC(c,b, ch) (311,8)

© 1 nug zobe+ud / 25
- pO 4237+ 0.0
p1 -36.53 + 0.00

TP delay

TVC(cbch) (3,11, 12

[ns]

X1 z4e+04 1 25
po 4216+ 0.0
pl -35.45+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (3,11,1)

=, po

AT 1 nuiLs14e+U4 [ 25
4190+ 0.0
pl -35.72+ 0.00

1
100

TP delay [ns]

TVC(cbch) (3,11,5

-1 3u8e+u4 / 25
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